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Y Iris Smith is beneficial owner of the company as she indirectly holds 26.65% of the shares (55% of Company A x 51% of Company C x 95% = 26.65%)

> Arthur Bloggs is beneficial owner of the company as he controls 25% of the shares though he actually holds less than 25% of the shares. As his 60% holding means he has
control under the law as it applies to corporate groups, he is attributed all shares in Company B.

> Doris Smith is beneficial owner of the company as she indirectly holds 26.95% of the shares (55% of Company A x 49% = 26.95%).

*  Tom Bloggs is beneficial owner of the company as he holds a total of 28% of the shares (25% of Company B x 40% = 10% plus 18% direct = 28%)



